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34km 44Kkm
C/ L
e
12 29,371 55 26,014
12.9
16 30,712
18 2006
32 33,526
12 17 22 27 32
29,371 30,196 31,322 32,423 33,526
4,797 4,881 5,013 4,944 4,589
0 14 16.3 16.2 16.0 15.2 13.7
18,883 18,860| 19,116] 18,998 19,460
15 64 64.3 62.5 61.0 58.6 58.0
5,668 6,455 7,193 8,481 9,477
65 19.3 21.4 23.0 26.2 28.3
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10,435 55
38.1
32 15,296
2.2

12 17 22 27 32
10,435| 11,246 12,426| 13,760f 15,296
2.8 2.7 2.5 2.4 2.2

12 15,490
22.9 21.9 55.2
32 10.7
19.4 69.9

12 17 22 27 32
15,490 15,666| 16,022| 16,231 16,796
52.7 51.9 51.2 50.1 50.1
3,549 3,136 2,730 2,270 1,802
22.9 20.0 17.0 14.0 10.7
3,386 3,325 3,300 3,242 3,256
21.9 21.2 20.6 20.0 19.4
8,555 9,205 9,992 10,719] 11,738
55.2 58.8 62.4 66.0 69.9
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